
Unique Paper Code : 32345104 

Name of the Paper : Programming using Python 

Name of the Course : Computer Science: GE for Honours 

Semester : I 

 

Duration: 3 Hours Maximum Marks: 75 

 

Instructions: Attempt any FOUR questions. All questions carry equal marks.  

 

Q1  

• Write algorithms for the following: 

 to compute whether a number is a perfect square. 

  to determine whether a string is a palindrome.  

 

• Which of the following are valid identifiers? If they are invalid, then mention the 

cause of violation. 

 #ofElements 

 No of elements 

 3elements 

 noOfElements 

 for 

 In  

 

• What will be the value associated with the variable name a on execution of the 

following statements? Justify your answers. 

 b = 10 

a *= b + 2 

 a = 2 + 3 ** 2 // 4 % 3 

 a = "32 * 76" 

 a = 'ho' * 5 

 a = 'string' > 'Strings'     
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 a = ~-12 

 

Q2 Write functions for the following (n to be passed as an argument to the function): 

• display the following pattern: 

    A 

   B A B 

  C B A B C 

 D C B A B C D 

  A B C B A 

   A B A 

    A  

Here n is the number of rows in the diamond shape, assume that n is odd and 

less than 52. For the above sample figure n is 7.  

 

• sum of the first n terms of following series:  

𝑆 = 1 −
1

2
+ 

1

3
−  

1

4
+ ⋯ 

 

• greatest common divisor of two numbers (in addition to n, another argument m is 

passed to the function) 

 

Q3  

• You are given a dictionary priceList = {"Pen" : 10, "Pencil" : 5, 

"Eraser" : 5, "Ruler" : 20}, representing products and their rates.  

 write a function rate that accepts this dictionary along with the name of a 

product and returns the price of that product. If the product does not exist in the 

dictionary, then it should return -1.  For example, if the name of the product is 

Ruler then the function should return 20.  

 write another function update to modify the dictionary. The function should 

accept the dictionary, name of a product and new rate for it. The function should 

return the updated dictionary as per the following cases: 

Case 1: if the rate of the product is negative or zero and the product exists in the 

dictionary then the product should be removed from the dictionary 
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Case 2: if the rate of the product is positive and the product exists in the 

dictionary then the rate of the product in the dictionary should be changed to 

the new rate that is passed to the function 

Case 3: if the rate of the product is positive and the product does not exist in the 

dictionary then the product-rate pair should be added to the dictionary  

 

• Which of the following fourteen statements (Line 1 to Line 14) have errors? 

Identify all errors and justify your answers.  

 

 str = "Hello There" # Line 1 

 str[6] = 't' # Line 2 

 print(str[12]) # Line 3 

 print(str[-2 : -4]) # Line 4 

 print(str[2 : 12]) # Line 5 

  

 lst = list(str) # Line 6 

 lst[3] = 'i' # Line 7 

 print(lst[2 : 4]) # Line 8 

  

 s = set(str) # Line 9 

 s[3] = 'i' # Line 10 

 print(s[2 : 4]) # Line 11 

 

 t = tuple(s) # Line 12 

 t[3] = 'i' # Line 13 

 print(s[2 : 4]) # Line 14 

  

  

Q4  

• Consider the following two tuples showing games played by Ramesh and Suresh: 

 gamesRamesh = ('lawn tennis', 'cricket') 

 gamesSuresh = ('cricket', 'hockey', 'badminton') 

 Write the statements to compute the following: 
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 games played by Suresh but not Ramesh 

 games that are common to both of them 

 all the games that are played by either of them  

 games that are not common to both of them  

 

• What will be the output produced on execution of the following  code segments? Justify 

your answers.  

 

 def fun(a = 0, b = 1): 

return a * b 

  

 print(fun(5, 6)) 

 print(fun(6)) 

 print(fun(b = 5)) 

  print(fun()) 

 

 import copy 

  lst1 = [13, 23, [38, 42], 52] 

  lst2 = copy.deepcopy(lst1) 

  lst3 = lst1 

  lst2[2][0] = 78 

  lst3[3] = 61 

 print(lst1, lst2, lst3) 

 

 def m(s): 

    ans = '' 

    for i in range(len(s)): 

        if i % 2 == 0: 

         ans += s[i] 

    return ans 

print(m('HelloWorld')) 
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 lst = [x * y for x in range(3, 9, 2) for y in range(6, 

1, -1) if x * y % 2 == 0 ] 

 print(lst) 

 

 def fn(a, n): 

    try: 

        print(a[n]) 

    except IndexError:  

        print("In IndexError") 

        raise ValueError("An error") 

    except: 

        print("Some error") 

    print("Bye") 

 

lst = [1, 2, 3]         

try: 

   fn(lst, 1) 

   fn(lst, 3) 

   fn(lst, 2)  

except ValueError as msg: 

   print(msg) 

Q5  

• Write a program to read three sides of a triangle and display whether the triangle 

is a scalene or equilateral or isosceles triangle, provided that the sides entered by 

the user are positive and they form a valid triangle. The program should have 

assert statements to ensure that these two conditions are satisfied.   

 

• Write a function that accepts the name of a file as an argument and returns the 

number of lines in the file. The function should return -1 if the specified file does 

not exist.                      

 

• Write a function for linear search that accepts two arguments: a list of numbers 

and a number to be searched. Assume that the list can have duplicate elements. 

The function should return a list of all the indices corresponding to the element 
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being searched. If the element is not there, then the program should return the list 

[-1]. For example, if the list is [68, 24, 68, 68, 24, 14] and 68 is to be searched 

then the function should return [0, 2, 3].  

 

Q6 Define a class Student that keeps a record of students. The class should contain the 

following: 

• data members for every student: rollNo, Name, Class, Section, 

marks1, marks2, and marks3. Assume that the maximum marks for each 

subject are 100.  

• an additional data member count to keep a record of the number of objects created 

for this class. Add appropriate statements in the code to increment the value of 

count by 1, when an object is created. 

• Also define function members: 

 a constructor function to initialize the members  

 a function grade, that returns the overall grade of the student according to 

the following criteria: 

A : if percentage ≥ 90 

B : if percentage ≥ 80 and < 90 

C : if percentage ≥ 70 and < 80 

D :  if percentage < 70  

 __str__ function to display the details of a student including the overall 

grade of the student 

  

 Also write statements for the following: 

• create an object s1 of this class for a student Tarun of Class XII A having roll no 15 

and marks in three subjects as 83, 93, 86.  

• display the details of the student s1  using __str__ function statement. 
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Name of the Paper:   Introductory Microeconomics 

 

Name of the Course:   GE 

 

Semester:    I (Admission of 2019) 

 

Duration: 3 Hours       Maximum Marks: 75 

 

Instructions for Candidates 

 

1. Write your Roll No. on the top immediately on receipt of this question paper. 

2. Answer any 4 questions.  

3. All questions carry equal (18.75) mark 

4. Answers may be written either in English or Hindi; but the same medium should be 

used throughout the paper 

1. इस प्रश्न-पत्र के मिलते ही ऊपर दिये गये मिर्धाररत स्थधि पर अपिध अिुक्रिधांक मलमिये | 

2. दकन्हीं 4 प्रश्नों कध उत्तर िें ।  

3. सभी प्रश्नों कध उत्तर सिधि (18.75 ) हैं ।  

4. इस प्रश्न-पत्र कध उत्तर अँग्रेजी यध महन्िी दकसी एक भधषध िें िीमजये; लेदकि सभी उतरों कध िधध्यि 

एक ही होिध चधमहये | 

 

1) (a)   Classify the following as positive/normative economics: 

(i) The incidence of a tax on ice creams is higher on sellers. 

(ii) On average, women earn less than men. 

(iii) Higher inflation is bad. 

(iv)  Markets should be allowed to operate freely without any government 

interference for economic development. 

(v) Given high inflation the minimum wage should be Rs. 200/hour.  5 

 

              मिम्नमलमित को सकधरधत्िक िधिक अथाशधस्त्र के रूप / िें वगीकृत करें:     

(i)आइस क्रीि पर कर लगधि ेकी घटिध मवके्रतधओं पर अमर्क होती ह।ै 

(ii) औसति, िमहलधए ँपुरुषों की तुलिध िें कि किधती हैं। 

(iii) उच्च िुद्रधस्फीमत िरधब ह।ै 

(iv) बधजधर को आर्थाक मवकधस के मलए दकसी भी सरकधरी हस्तक्षेप के मबिध स्वतांत्र रूप 

से सांचधमलत करिे की अिुिमत िी जधिी चधमहए। 

(v)उच्च िुद्रधस्फीमत को ििेते हुए न्यूिति वेति रु 200 / घांटध होिध चधमहए। 
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(b) Workers in country A can produce 200 pencils or 30 pens in a year while in 

country B can produce 200 pencils or 18 pens in a year. 

(i) Assuming each country has 50 workers, graph the Production Possibility 

Frontier (PPF) of each country. 

(ii) Explain the range of the price of a pencil in terms of pens for which the two 

countries might trade.       5 

िशे A िें श्रमिक एक वषा िें 200 पेंमसल यध 30 पेि कध उत्पधिि कर सकते हैं जबदक िशे िें 

B एक वषा िें 200 पेंमसल यध 18 पेि कध उत्पधिि कर सकते हैं। 

(i) प्रत्येक िशे िें 50 किाचधरी हैं, प्रत्येक िशे के उत्पधिि सांभधविध फ्रां रटयर (PPF) को 

रेिधांकि करत ेहैं। 

(ii)  पेि के सांिभा िें एक पेंमसल की कीित की सीिध बतधएां, मजसके मलए िोिों िशे 

व्यधपधर कर सकते हैं। 

 

 

(c) If we observe more rice is purchased this year than last year, we may conclude 

that demand has increased and therefore price must have increased. Comment.

           5 

यदि हि िधिते हैं दक मपछले वषा की तुलिध िें इस वषा अमर्क चधवल िरीिध गयध है, तो 

हि यह मिष्कषा मिकधल सकते हैं दक िधांग िें वृमि हुई ह ैऔर इसमलए िूल्य िें वृमि हुई ह।ै 

रटप्पणी कीमजए । 

 

 

(d) Rahul purchases only 2 goods: ice cream and chocolates. If own price elasticity 

of demand for chocolates is 1, what is the cross price elasticity of demand for 

ice creams? Show your calculation/reasoning.                           3.75 

 

रधहुल मसफा  िो वस्तुए िरीितध है: आइसक्रीि और चॉकलेट। यदि चॉकलेट की िधांग कध िूल्य 

लोच 1 ह,ै तो आइस क्रीि की िधांग कध क्रॉस िूल्य लोच क्यध ह?ै तधर्का क गणिध कीमजए । 
 

2) (a)      “Subsidies are inefficient since they lead to a deadweight loss.” Do you agree?           

 Use diagrams to illustrate your answer     5 

 “अिुिधि अप्रभधवी ह ैक्योंदक वह अमर्भधर िुकसधि (deadweight loss) की ओर ले जधते       

ह|ै” क्यध आप सहित हैं? अपिे उत्तर को स्पष्ट करिे के मलए आरेिों कध उपयोग करें | 

 

(b) You are considering two cable networks for your television. Tatasky charges 

Rs. 120 per month regardless of the channels watched. Hathway on the other 

hand charges Rs. 1/ channel per month. Your monthly channel demand is given 

by the equation CD = 150 – 50P, where P is the price per channel. 

(i) How many channels per month will you watch with each network? 

(ii) Based on consumer surplus obtained, which provider should you choose 

                    5 
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आप अपिे टेलीमवजि के मलए िो केबल िेटवका  पर मवचधर कर रह ेहैं। Tatasky मबिध 

चैिल   ििेिे की सांख्यध कध परवधह दकए  प्रमत िधह रु १२० शुल्क लेती ह ै| िसूरी ओर 

hathway  प्रमत चैिल रु १ प्रमत िधह शुल्क लेती ह ै| आपकी िधमसक चैिल िधांग सिीकरण 

CD = 150 - 50P द्वधरध िी जधती ह,ै जहधां P प्रमत चैिल िूल्य ह।ै 

(i) आप प्रत्येक िेटवका  के सधथ प्रमत िधह दकति ेचैिल ििेेंगे? 

(ii) प्रधप्त उपभोक्तध अमर्शेष के आर्धर पर, आपको कौि सध प्रिधतध चुििध चधमहए | 

 

(c) Two commodities A and B have linear supply curves and identical linear 

demand curves. At equilibrium, price elasticity of supply for commodity A is 

greater than that of B but elasticity of demand is the same. If a tax of Rs. t per 

unit is imposed on both commodities, in which case will the burden be greater 

on the supplier? Explain with the help of a diagram.    5 

          

 िो वस्तुओं A और B िें रैमिक आपूर्ता घटतध ह ैऔर सिधि रैमिक िधांग घटतध ह।ै सांतलुि 

िें, वस्तु ए के मलए आपूर्ता की कीित लोच बी की तुलिध िें अमर्क है, लेदकि िधांग की लोच 

सिधि ह।ै यदि िोिों वस्तुओं पर T रु कध कर प्रमत यूमिट लगधयध जधतध ह,ै तो दकस िधिले िें 

आपूर्ताकतधा पर बोझ अमर्क होगध? आरेिों की ििि से सिझधएां। 

 

 

(d) Delhi government is very worried about the impact of pollution on public 

health. It is thinking about 2 ways to curb pollution: 

 (i) Impose a fine of Rs. 100 on anyone found bursting crackers 

 (ii) Impose a fine of Rs. 100 on anyone found selling crackers  

Which out of these two will be more effective in curbing pollution? Explain and 

illustrate.                          3.75 

 
 

दिल्ली सरकधर सधवाजमिक स्वधस््य पर प्रिषूण के प्रभधव को लेकर बहुत चचांमतत ह।ै यह 

प्रिषूण पर अांकुश लगधिे के 2 तरीकों के बधरे िें सोच रहध है: 

(i) पटधिे फोड़ते हुए पकड ेजधि ेपर रु १०० कध जुिधािध लगधिध | 

(ii) पटधिे बेचते  हुए पकड ेजधिे पर रु १०० कध जुिधािध लगधिध | 

प्रिषूण को रोकिे के मलए इि िोिों िें से कौि अमर्क प्रभधवी होगध? मचत्र के सधथ 

सिझधएां | 

 

3) (a)      If a consumer does not buy less of a commodity when his income rises, then he    

 will surely buy less when the price of the commodity rises. Explain and 

 illustrate using income effect and substitution effect. 6  
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यदि कोई उपभोक्तध अपिी आय बढ़िे पर दकसी की िधत्रध कि िहीं िरीितध ह,ै तो उस वस्तु 

की कीित बढ़िे पर वह मिमित रूप से उस वस्तु को कि िधत्रध िें िरीिगेध | आय एवां 

प्रमतस्थधपि प्रभधव की ििि से मचत्र समहत सिझधईये | 

 

(b) Nitin consumes 2 burgers and 2 cokes every day when his income per month is 

Rs. 10,000 and the prices of burger and coke are Rs. 10/burger and Rs. 6/ coke. 

The prices of burger and coke increase to Rs. 20 and Rs. 12 respectively. His 

employer increases his salary to Rs. 20,000. Show the impact of the following 

changes on his budget set and his consumption using indifference curves.    4.75 

 

मिमति प्रमतदिि 2 बगार और 2 कोक िधतध हैं,जब उसकी प्रमत िधह आय रु10,000 और 

बगार और कोक की कीित क्रिशः रु10/बगार और रु 6/कोक हैं । बगार और कोक की कीितें 

बढ़कर क्रिशः रु 20/बगार और रु 12/कोक होि ेपर मिमति के मियोक्तध िे उसकध वेति 

बढधकर रु 20,000 कर ितेध ह|ै उिधसीि वक्र कध उपयोग कर उसके बजट सेट और उसकी 

िपत पर उक्त पररवतािों कध प्रभधव दििधइये| 

 

 

(c)     Consider a couple’s decision about how many children to have. Assume that    

          over a lifetime a couple has 100,000 hours of time to either work or raise 

           children. The wage is 5 per hour. Raising a child takes 10,000 hours of time.

  (i) Draw the budget constraint showing the trade-off between lifetime 

                consumption and number of children (ignore the fact that children come 

     only in whole numbers). Show indifference curves and an optimum choice.

             (ii) Suppose the wage increases to Rs. 10 per hour. Show how the budget 

       constraint shifts. Using income and substitution effects, discuss the impact

       of the change on number of children and lifetime consumption.                8 

 

दकतिे बच्चे हों , इसके बधरे िें युगल के मिणाय पर मवचधर करें, और  िधि लें दक जीवि 

भर िें एक जोड़ ेके पधस कधि करि ेयध बच्चों की परवररश करिे के मलए 100,000 घांटे 

कध सिय होतध ह।ै िजिरूी 5 प्रमत घांटध ह ैऔर  एक बच्चे की परवररश  िें 10,000 घांटे 

कध सिय लगतध ह।ै 

(i) आजीवि िपत और बच्चों की सांख्यध के बीच तधलिेल दििधते हुए बजट की किी को िरू 

करें (इस त्य को अिििेध करें दक बच्चे पूरी सांख्यध िें ही आते हैं)। उिधसीितध वक्र और 

एक अिुकूल  मवकल्प दििधएां। 

(ii) िधि लीमजए दक िजिरूी  बढ़कर रु 10 प्रमत घांटे हो गई , आय और प्रमतस्थधपि प्रभधवों 

कध उपयोग करते हुए  दििधएां दक बजट की किी कैसे बिल जधती ह।ै , बच्चों की सांख्यध 

और जीविकधल की िपत पर पररवताि के प्रभधव पर चचधा करें। 
 

 

4) (a)      A firm uses labour and capital to produce 5000 units of output that it sells for

 Rs. 10/unit. The labour cost is Rs. 45,000. The capital stock is worth Rs. 
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 100,000 and the return available to investors with comparable risk is 10%. Is

 this a profitable firm? Explain your answer.                    3 

 

एक फिा श्रि एवां पँूजी से 5000  इकधई कध उत्पधिि करती ह ैमजसको  10 रु प्रमत इकधई 

पर बेचती ह ै| श्रि की कुल लगत रु 45000 और पूँजी रु 100000  ह ैऔर मिवेशकों के 

मलए 10% प्रमतफल की िर उपलब्र् ह ै|  क्यध यह एक लधभिधयक फिा ह?ै सिझधइये| 

 

(b) The market for firecrackers is perfectly competitive and is in long run 

equilibrium at price, P=Rs 30/piece. Due to pollution doctors issue an advisory 

against burning firecrackers. How will this impact the price of firecrackers, 

number of firms in the industry and profit of each firm in the short run and long 

run? Illustrate and explain.           8 

 

पटधिों के मलए बधजधर पूरी तरह से प्रमतस्पर्ी ह ैऔर िीघाकधल िे कीित P = 30 रुपये / 

िग पर सांतुलि िें ह,ै । प्रिषूण के कधरण डॉक्टर पटधिे जलधिे के मिलधफ एक एडवधइजरी 

जधरी करते हैं। यह पटधिों की कीित, उद्योग िें फिों की सांख्यध और अल्पधवमर् और लांबे 

सिय िें प्रत्येक फिा के लधभ को कैसे प्रभधमवत करेगध? मचत्र समहत सिझधइए। 

 

(c) Consider the following table for long run total cost of 3 firms: 

  

Qty. 1 2 3 4 5 6 7 

Firm A Rs. 10 Rs. 20 Rs. 30 Rs. 40 Rs. 50 Rs. 60 Rs. 70 

Firm B Rs. 60 Rs. 70 Rs. 90 Rs. 100 Rs. 110 Rs. 120 Rs. 126 

Firm C Rs. 1 Rs. 4 Rs. 9 Rs. 16 Rs. 25 Rs. 36 Rs. 49 

        Do these firms experience economies of scale, diseconomies of scale or constant 

returns to scale?                   2.75 

 

 3 फिों की लांबी कुल लधगत के मलए मिम्न तधमलकध पर मवचधर करें: 

Qty. 1 2 3 4 5 6 7 

Firm A Rs. 10 Rs. 20 Rs. 30 Rs. 40 Rs. 50 Rs. 60 Rs. 70 

Firm B Rs. 60 Rs. 70 Rs. 90 Rs. 100 Rs. 110 Rs. 120 Rs. 126 

Firm C Rs. 1 Rs. 4 Rs. 9 Rs. 16 Rs. 25 Rs. 36 Rs. 49 

क्यध ये फिा पैिधिे की अथाव्यवस्थधओं, पैिधिे की मवसांगमतयों यध पैिधिे पर मिरांतर ररटिा कध 

अिुभव करती हैं? 

 

(d) A profit maximizing firm in a competitive market is currently producing 50 

units of output. The market price is Rs. 10, the firms average variable cost is Rs. 

5 and its fixed cost is Rs. 250. 

(i) What is the profit of the firm? 
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(ii) What is its marginal cost? 

(iii) What is the efficient scale of production for this firm                  5 

एक प्रमतस्पर्ी बधजधर िें अमर्कति लधभकधरी कां पिी वतािधि िें 50 यूमिट उत्पधिि कर 

रही ह।ैमजसकध  बधजधर िूल्य रु 10/इकधई , फिों की औसत पररवतािीय लधगत रु 5 और 

इसकी स्थधयी  लधगत रु 250 ह ै। 

(i) फिा कध लधभ क्यध ह?ै 

(ii) इसकी सीिधांत लधगत क्यध ह?ै 

(iii) इस फिा के मलए उत्पधिि कध कुशल पैिधिध क्यध ह ै
 

5) (a)      A monopoly faces the following demand schedule: 

            

P Q 

0 14 

1 12 

2 10 

3 8 

4 6 

5 4 

6 2 

7 0 

  Find his profit maximizing price and output if he has a constant marginal cost

 of Rs. 5.              

 

एकधमर्कधर मिम्नमलमित िधांग अिुसूची कध सधििध करतध ह:ै 

 

P Q 

0 14 

1 12 

2 10 

3 8 

4 6 

5 4 
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6 2 

7 0 

 

5 रु की सीिधन्त लधगत पर अमर्कति लधभ िूल्य और उत्पधिि ज्ञधत कीमजए | 

 

(b) Perfect price discrimination by a monopolist increases total welfare in the 

society but consumers may not be happy with it. Why? Explain and illustrate   5     

     

         एक एकधमर्कधरवधिी द्वधरध सही िूल्य भेिभधव सिधज िें कुल कल्यधण को बढ़धतध ह ैलेदकि 

उपभोक्तध इससे िुश िहीं हो सकत ेहैं। क्यों? मचत्र समहत स्पष्ट करें | 

 

(c) What is a natural monopoly? Illustrate and explain the problem with the 

following two approaches of regulating a natural monopoly: 

(i) Imposing competitive pricing on a natural monopoly. 

(ii) Imposing average cost pricing on a natural monopoly.       5 

 

एक प्रधकृमतक एकधमर्कधर क्यध ह?ै एक प्रधकृमतक एकधमर्कधर को मवमियमित करि े के 

मिम्नमलमित िो िमृष्टकोणों के सधथ सिस्यध कध मचत्रण और व्यधख्यध करें: 

(i) प्रधकृमतक एकधमर्कधर पर प्रमतस्पर्ी िूल्य मिर्धारण लधगू करिध। 

(ii) प्रधकृमतक एकधमर्कधर पर औसत लधगत िूल्य मिर्धारण। 

 

 

(d) “Monopoly is socially inefficient because it charges a price higher than its MC 

of production” True or False? Explain.               3.75 

 
 

"एकधमर्कधर सधिधमजक रूप से अक्षि ह ैक्योंदक यह अपि ेउत्पधिि के सीिधन्त लधगत से 

अमर्क कीित लेतध ह|ैसही यध गलत " के बधरे िें बतधएां। 

 

6) (a)       Weavers use yarn knitting machines to make sweaters. Due to a strike in the         

 yarn knitting industry, fewer machines are built this year. How does this  

 impact  the wages of weavers?          5 

 

बुिकर स्वेटर बिधिे के मलए  बुिधई िशीिों कध उपयोग करते हैं।  बुिधई िशीि  उद्योग िें 

हड़तधल के कधरण, इस वषा कि िशीिों  कध उत्पधिि हुआ । यह बुिकरों की िजिरूी को 

कैसे प्रभधमवत करतध ह?ै 

 

(b) The equilibrium price of rice is Rs. 50/kg. Government imposes a ceiling price 

Rs. 40/kg. Using diagrams to show how this will impact the rice market and the 

wages of rice growers.            6 
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चधवल कध सांतुलि िूल्य रु50 / दकग्रध ह,ै सरकधर अमर्कति िूल्य  रु। 40 / दकग्रध लधग ु

करती ह ै। आरेिों की ििि से  चधवल बधजधर और चधवल उत्पधिकों के वेति पर प्रभधव को 

सिझधइये | 

 

(c) Migration of skilled labour was banned between India and USA. The wage rate 

was higher in USA as compared to India. A new agreement between the two 

countries allows skilled labour migration. Show and explain the changes in the 

skilled labour market in terms of wage and productivity in both countries.    7.75 

 

भधरत और अिरीकध के बीच कुशल श्रमिकों के प्रवधस पर प्रमतबांर् लगध दियध गयध थध। 

भधरत की तुलिध िें सांयुक्त रधज्य अिेररकध िें िजिरूी िर अमर्क थी। िोिों िशेों के बीच एक 

ियध सिझौतध कुशल श्रि प्रवधस की अिुिमत ितेध ह।ै िोिों िशेों िें िजिरूी और उत्पधिकतध 

के सांिभा िें कुशल श्रि बधजधर िें बिलधवों को दििधएां और सिझधएां। 
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1. DOES IT HELP A STUDENT TO BE BILINGUAL IN INDIA? 

2. LANGUAGE SUPPORTS MALE DOMINATION IN ANY PARTICULAR 

SOCIETY. DO YOU AGREE? 

3. WHY WAS SUBRAMANIA BHARATI GIVEN THE TITLE OF ‘BHARATI’? 

WHAT AGENDA CAN BE SEEN IN BHARTI’S POEM THE PALLA SONG? 

4. BRING OUT THE EPIC DIMENSIONS OF CILAPPATIKARAM WITH SPECIFIC 

REFERENCE TO ‘THE BOOK OF MATURAI’. 

5. SHRILAL SHUKLA’S RAAG DARBARI PORTRAYS A PICTURE OF 

DEGENERATED SOCIETY IN EVERY ASPECT. HOW FAR DO YOU AGREE 

WITH THIS STATEMENT? DISCUSS. 

6. THE THEME OF CASTE HAS BEEN EXPLORED IN INDIAN LITERATURE 

SINCE ANTIQUITY. HOW DOES OMPRAKASH VALMIKI’S JOOTHAN 

PROJECT EXPLOITATION AND DISCRIMINATION WITHIN INDIAN 

SOCIETY? 

 

 

 



12315110_l_1_Delhi through the ages:Making ofits Modern History _History GE
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Time i3 Hours
SlIrI r Q tit

Attempt any three question in all.
qrfi d ffi fi atc cec F-si +T qcrs irtr
All questions carry equal marks.
g}fisedq{sq|{3i6tl

Q.1 Archaeological evidences are uselirl in constructing history ofearly India. Elaborate.
gtrarfr'+stqqvI{Fr6'{F6dEfr'5rq+fftrdscq}fi tt Esoet{al fr'q-dq'i

Q.2 Describe the structure ofany fort built during medieval period in India.
qnaSqtrorod<tmfifi-dffi fr ffi Air+{r6rquhEtl

Q.3 Highlightthe socio-cultural lives oflocal peop)e during medievalperiod.
caqgfl -{ ord d T?n+q iil d srqrG-o-siqfr '6 *+l qq qqrT.r.' la*,

Q,4 How did the city ofShahjahanabad shape the uprising of 1857.
9IEETEFTFrE er6{+ lBSZ d€-St6 +t d'd 3T16T{ftqrr

Q.S Discuss the ideological basis ofNew impedal city that was constructed by the British between
1915-1933.

1915-i933d+E aindi GsqrsrG-d ertqErffq fr-qr Er rs$ffio s *rRqrq-qf al
Q.6 Assess the impact ofpartition on the demogmphy and geography ofDelhi.

fidfi q+si@fr ritqTqloqtfrrrrsadq'{ra6r :liFnnE{
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1.  Differentiate between Hard news and Soft news? Illustrate with examples. 

2. What do you understand by tabloid culture? Tabloidisation has become an unavoidable 
part of major media outlets today. Comment. 

3. What are the basic principles of writing a lead for a news story? Write a lead about a  
recent event and explain the various elements in your lead. 
 

4. What is the scope of citizen journalism in reporting issues that big media houses may 
overlook? What is the role of social media platforms such as Twitter and Facebook in  
facilitating citizen journalism? 
 

5. What are the challenges for media houses to stick to ethical practices today? Illustrate 
how corporatisation and politicisation influence media content. 
 

6. Write a news story for a newspaper on any ONE of the following, not exceeding 

500 words:                           

a. Impact of the COVID-19 on education 

b. Farmers’ Protests in Delhi 
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hours for answering the question paper and 1 hour is given for downloading the question 
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c) Answers may be written either in English or Hindi; but the same medium should be used 
throughout the paper.     
                          

1. What are the causes and effects of stress?  

 तनावकेकारणऔरप्रभावक य्? 

 
2. Define Yoga. Explain the meaning and importance of Yoga.  

 योगकोप�रभा�षतकर�।योगकेलाभ�केबारेम�भीबताएं। 
 
3. What is ‘Pranayama’ and its types? Explain the procedure, benefits and precautions for any two types 

of pranayama.   

 ‘प्राणाय’ क्याह�औरइसकेप् रकारक्? �कसीभीदोप्रकारकेप्र ाणायामक�प, 
लाभऔरसावधा�नय�केबारेम�बताएं। 

 
4. Write about Yama and Niyama in detail. 

 यमऔर�नयमकेबारेम��वस्तारसे�ल�खए 
 
5. Describe the meaning, procedure, precautions and benefits of any two Meditative Asanas. 

 �कसीभीदोध्यानआसन�क ेअथ, प्र�क, सावधा�नय�औरलाभ�कावणर्नकर� 
  
6. How can an active lifestyle help us to stay healthy and stress free?  

 एकस�क्रयजीवनशैल�हम�स्वस्थऔरतनावमु�रहनेम�कैसेमददकरसक \ 
 



A 
 

 (This Question Paper contains 2 printed pages) 

 

Your Roll No. ……………………. 

आपकाअनकु्रमाांक...................... 

S. No of Question Paper ……………………. 

प्रश्नपत्रकाक्रमाांक...................... 
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Name of the Course            :  BA (Hons) Political Science, GE  
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Time: 3 Hours            Maximum Marks: 75 

समय: 3 घंटे          पूर्ाांक: 75 

 
Note:  Answers may be written either in English or Hindi but the same medium should be followed 

throughout the paper. 

 इस प्रश्नपत्र का उत्तर अंग्रेजी या ह दंी ककसी एक भाषा में दीजजए लेककन सभी उत्तरों का माध्यम 
एक  ी  ोना चाह ए। 

 

Attempt Any Four questions.  

All questions carry equal marks. 

ककन ीं चार प्रश्नों के उत्तर दीजजए। 

सभी प्रश्नों के अंक समान  ैं 
 

1. How have market and civil society affected the traditional roles and responsibilities of the 

state in the governance processes? Explain with examples. 

बाजार और नागररक समाज ने ककस प्रकार राज्य की पारम्पररक भूममकाओं और 
जिम्मेदाररयों को प्रभार्वत ककया  ै? उदा रर्ों सह त व्याख्या कीजजये। 
 



2. Good governance strengthens democracy by promoting participation, freedom of 

information, a strong legal system, efficient and transparent administration. Do you agree 

with the statement? Justify your answer with suitable examples. 

सुशासन स भागगता, सूचना की स्वततं्रता, सशक्त नयाय प्रर्ाली, कुशल और पारदशी 
प्रशासन का प्रोत्सा न कर लोकतंत्र को सशक्त बनता  ै। क्या आप इस कथन से स मत 
 ैं? उगचत उदा रर्ों द्वारा अपने उत्तर की पुजटट कीजजये।  
 

3. Critically examine the human dimensions of global environment change. 

वैजश्वक पयािवरर्ीय पररवतिन के मानवीय आयामों का समालोचनात्मक परीक्षर् कीजजये। 
 

4. Democratic decentralization enhances accountability and also makes government more 

responsive. Discuss. 

लोकताजनत्रक र्वकेनरीकरर् जवाबदे ी को बढ़ाता  ै एवं शासन को और अगिक उत्तरदायी 
बनाता  ै? र्ववेचना  कीजजये। 
 

5. Public service delivery is one of the most vital and notable aspects of good governance. 

Do you agree? Justify your answer with apt examples. 

साविजननक सेवा र्वतरर् सुशासन का अत्यंत आवश्यक एवं उल्लेखनीय प लू  ै। क्या 
आप इस से स मत  ैं? उगचत उदा रर्ों द्वारा अपने उत्तर की पुजटट कीजजये। 
 

6. An informed citizen is better equipped to keep necessary vigil on the instruments of 

governance and make the government more accountable to the governed. Analyze the 

statement in the context of Right to Information. 

एक सुर्वचाररत नागररक सुशासन के यंत्रों पर आवश्यक ननगरानी रखने में बे तर रूपस े
सुसजज्जत  ै और शासन को शामसत के प्रनत अगिक जवाबदे  बनता  ै। सूचना के 
अगिकार के सनदभि में इस कथन का परीक्षर् कीजजये। 
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*c: ycr siifi w ffi fr Rer ar qrdr t, dfua lt caa-q{ d Rs q+, 6r

qrrqq 6r iqdra f6-ql qrar qG('t

Atlempt anv 4 oaestions.

SFd r' eaai * rrr fiHr
AII ouestions carm eoual maft.s.

gafi c?d' * wrra rie dt

L Describe the nature of leaming. Ex?lait the principles of classical conditioning with

the help of s\ritable examples.

ffi 6r qfr ar aot'a Ftt 3c3rd r4t6{"il fr s6|{dr t ar5trq +farfH4

t Rq.trid 6r qrsqr att

(18.7t



2. Evaluate the concept of intelligence with the help of any one theory. Discuss the
significance of emotional intelligence.

ffi r'o R€ia *r soqar t gqfu *.r :rornrw or {-qi{-a 6tt s{redrfr+.

c<fumr *' FfaE q{ Tst +tl

(18.7s)

3. Explain Erik Erikson's psychosocial theory ofhumao development.

('11+. qfrrgd * erflE fufir€ h ra}ffi* R{rra €r evrcqr st,

_ (18.7s)

4. Examine the concept of shess. Discuss the various methods of coping with stress.

a-+rE A murqon 6t diq stt d-d|c t fu A frA-a dffi q{ q_ql.stl

(18.7t

5. Define memory. Explain any are model ofmemory in detail.

qfr 4f cfunfrd 6tt F{fr * f+-$ uo drga * art * ffFdR t Tdrtl

(18.7s)

6. Critically analyse the humanistic perspective ofpersonality.

.EqF(|id + aTd-fdTddt EFz6ivr fi fredvo1 611

(18.7s)
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Instructions for Candidates: 

 

1. Write your Roll No. on the top immediately on receipt of this question paper. 

इस प्रश्न-प्रत्र के नमलते ही ऊपर ददए गए स्थान पर अपना अनुक्रमाांक नलनिए।  

 

2. Answer any three questions. 

दकन्हीं  प्रश्नों के उत्तर दीनिए। 

 

3. Answer may be written either in English or in Hindi but the same medium should be 

used throughout the paper. 

इस प्रश्न-पत्र का उत्तर अांगे्रिी या हहदी दकसी एक भािा में दीनिए लेदकन सभी उत्तरों का माध्यम 

एक ही होना चानहए। 

 

4. All questions carry equal marks. 

सभी प्रश्नों के अांक समान हैं। 



 
SET B 

1. How does Bernard Cohn problematise the study of India’s civilization? 

बनााडा कोन ने भारत की सभ्यता के अध्ययन को कैसे समस्याग्रस्त दकया? 

2. Outline the discursive construction of Indian’s villages.  

भारतीय गाांवों के ननमााण को रेिाांदकत करें। 

3. Write an essay on the Indian caste system.  

भारतीय िानत व्यवस्था पर एक ननबांध नलिें। 

4. Explain the idea of ‘popular Hinduism’ in contemporary India.  

समकालीन भारत में 'लोकनप्रय हहद ूधमा' के नवचार को समझाइए। 

5. Explain gender construction through socio-cultural practices in Indian Hindu families. 

भारतीय हहद ूपररवारों में सामानिक-साांस्कृनतक प्रथाओं के माध्यम से हलग ननमााण की व्याख्या 

करें। 

6. Discuss the Political history of women’s struggle for emancipation in India.  

भारत में मुनि के नलए मनहलाओं के सांघिा के रािनीनतक इनतहास पर चचाा करें। 

  

 

 


